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SC-241

B.Com. (Part-III) DUE B.Com. Part-II
Suppl. Examination, 2021

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I

(Financial Management)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.
(@ue-3) (3k : 2 x 10 = 20)
e - ol T8 T B SW ST (S-S 50 IE) | YAF WA 2 3HF T
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven. (Answer limit 200 words). Each
question carries 8 marks.
(Tus-a) (3T : 8 x 5 = 40)
e - m?ﬁﬁﬁﬁauﬁ@wﬁml (STR-HHET 200 IT) | T&IF TIT 8 3T
<l Tl
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(Tus—a) 37k : 20 x 2 = 40)
qE — IR H G FR S A & SW S (SW-HT 500 ) | THw T 20 SF H
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Note —

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

(x)

Section—A

(@us-39)

Answer all fen questions (Answer limit 50 words).
Tt @ YT B IW AN (SW-ET 50 =) |

What is meant by the term Financial Statement ?

foxita faeRor o1 a1 oM ¥ 2

What is Ratio Analysis ?

3T fawersor = ¥ 2

What is Break-even Point ?

Tu-fomg fag =N % 2

What is meant by Working Capital ?
FTETi STt HT A AWE F ?

What do you mean by ‘2/10 net 30’ ?
2/10 net 30’ | 9 FM THAI § ?
Define Inventory.

Y ol IR i

Define Dividend.

AT T R T

What is Capital Budgeting ?

ISt a5teT F T ?

Define a Funds Flow Statement.

Y YaE i gRefoa sifsm

What is meant by Cost of Capital ?

Tt TG T M SE ¥ ?
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Section-B

(@ue-=)

Note .—  Attempt any five questions out of seven. Answer should not exceed 200 words

in each question.

o § ¥ frgl uter 99l & S ST | Yo U9 o1 S7R 200 IS O Sfen el

BT = Mfe |

2. Discuss the objectives or goals of Financial Management.

foxia ey & SEYAl W @&l w1 faemm wifeu

3. Explain the term ‘Funds’/‘Flow’ in respect of Funds Flow Statement.

9 Jare faero & G5y # ‘@’ YA’ e il e Hifsu |

4. A company has an inventory of ¥ 73,000; Trade receivable of ¥ 45,000 and

Inventory turnover of 6 times. The gross profit margin of the company is 20%

and its credit revenue from operations are 40% of the total sales.

TF FEAT B ey 1 URT T 73,000 ¥, AR W T 45,000 T G The ST S
6 T ¥ | HEAT T Thet A1y STIE 20% T T 3HHT IUR IR F T et qi=ne

q A BT 40% B

5. From the following data relating to X Ltd; calculate Break-even Point :

Sales (12,000 units at ¥ 10 per unit)
Less : Variable Cost at ¥ 8 per unit
Contribution

Less . Fixed Cost

New Profit

T fafes & fmafafea aawt @ @9-fose fag &t oM sifsg .
farnt (12,000 s1sat 3 10 9fd SohrE)
e : AREdeiiel rTa ¥ 8 i gt
ST

Ty - feer arma

IS Y
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1,20,000
96,000

24,000

8,000

16,000

1,20,000
96,000

24,000

8,000

16,000
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6. Compute E.O.Q. and the total variable cost from the following information :

Annual Demand 5,000 Units
Unit Price T 20
Order Cost % 16
Storage Rate 2% per annum
Interest Rate 12% per annum
Obsolescence Rate 6% per annum
Frefafed g=a 9 STfe AR A6 U9 o IRadTeid @rTd i 9RI0ET HifSg
fier AT 5,000 shTeal
wfd g wiHa % 20
YT AT % 16
ISR L 2% wfa =nfeiew
IS 12% wfa =nfefes
A= X 6% wfa =feien

7.  Madhukul Ltd. issued 10,000 equity shares of ¥ 10 each at premium of ¥ 2 each.
The company has incurred issue expenses of ¥ 5,000. The equity shareholders
expect the rate of dividend to 18% p.a. Calculate the cost of equity share capital.

Ty fafies 7 3 10 9t 10,000 T=ar 791 1 T 2 Wi o797 Wifgaw w feie fwan
Fet 3 ffe =@ 35,000 foRd steteml 18 wfaera anfties oneisr =) sTden id
TAA St Y RIS TG BT

8.  Explain with reasons whether the following transactions involve flow of funds or
not ?

(1) Purchase of building for ¥ 12,000

(ii))  Sale of building for ¥ 16,000. The original cost of the building was
% 20,000 and accumulated depreciation of ¥ 12,000.

(ii1)) Goodwill written off from Profit and Loss A/c to extent of ¥ 5,000.

(iv) 6,000 and X 10,000 declared as dividend on preference share capital and
equity share capital respectively.
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w0 Giea Fagd foe frefafed el @ %I ya© B § A96n T8l ?
i) y9f" =1 %= T 12,0001

(i) wem =1 fowa T 16,0001 39 w99 ® @ 2 20,000 o R 3§ W T 12,000
Ied g9 Wfed foRar ST g o

(iii) ¥ 5,000 = TAfd S AY-TH @ | AUfArea fwan =i
(iv) S 3791 ISt aem |Har o791 st TR hHeT: T 6,000 T T 10,000 THILT ST

IERIEEI
Section—C
(Tus-7)
Note .— Answer any two questions out of four (Answer limit 500 words).

R H ¥ ol 3 yeEl & S ey (SW-H 500 ) |

9. The ratio of variable costs to sale is given to be 60%. The Break-even Point
occurs at 80% of sale.

(@) Find the sale when fixed costs are I 2,00,000.
(b)  Determine profit at 90% and 100% capacity of sales.

aRadeiiel @Tal @t foset & st 60 wfawra ©1 T9-famag fog fasnt & 80% W fHerera
gl

(s1) foert S wifse S@fe w@ml @mE T 2,00,000 2
(3) fawl & 90% qem 100% R W &Y &1 FHuRor Hifs

10. From the following information calculate the working capital required by operating

cycle method :
(1) Annual sales are estimated 1,00,000 units @ 20 per unit.
(ii))  Production cost is : Material ¥ 10; Labour ¥ 4; Overheads ¥ 4 per unit.

(ii1)) Customers are given 60 days credit and 40 days credit is taken from
suppliers.

(iv) 30 days of supply of raw material and 15 days supply of finished goods
are kept in stock.

(v)  The production cycle is 30 days and all materials are issued at the
commencement at each production cycle.

(vi) A cash balance equal to one-third of the other average working capital is
kept for contingencies.
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frafafea gael | seves wrERia gst & T 9REes =% fafy & wifg

(1)
(ii)
(iii)
(iv)
v)

(vi)

ST arfses farset 1,00,000 samsal T 20 9fd s |

SR MG 39 TR | §—9m T 10, 9™ T 4, 39eaa T 4 ofa |
ekt 1 60 Te7 ) SUR < It § Seifer oFeril | 40 T =t SuR ot St §)
e A & 30 7wt gfd qen ffda A &t 15 7w 9fd =i |5 @t S

T

Icqe = 30 feT o1 ® 991 Yo ScUed 9% o GNRY W Bl 9l w1 e

X fean S R

3 3ia wriehal Isit 1 T fieE fewm 7o & &9 # sefwarstt & fau

@ S g

11. X Co. Ltd. is considering two mutual exclusive projects. The following are the
information for the same :

Initial Investment

Lifetime of the project

Required rate of return

Tax rate

The net cash inflows before tax and depreciation are :

Year

Project A (})
Project B })

The project will be depreciated on straight line method. You are required to
calculated :

(i)

Pay-back Period

The net present value and profitability index for each project.

1

8,000
10,000

2

8,000
8,000

3

8,000
4,000

The internal rate of return for each project

Which project should be accepted ?

(ii)

(iii)

(iv)

Year 1
10% 0.909
15% 0.870
16% 0.862
18% 0.847

BI-1490

2
0.826
0.756
0.743
0.718

3
0.751
0.658
0.641
0.609

6

)

Discount Factor

4
0683
0.572
0.552
0.516

4
8,000

10,000

S
0.621
0.497
0.476
0.431

< 20,000

> years
10%
50%

S
8,000
10,000

Total
3.790
3.353

3.27
3.121
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T FE faffes 7 WER eAuest gfEemst | faar R @ T s & fom
frefafen geam ¥

IRt o= % 20,000
IRASH 1 SHerehTal 5 9dl
ETIR T T 10%
EX 50%
X TE FE H qd g A T ¥

L 1 2 3 4 5
gREsET 3 () 8,000 8,000 8,000 8,000 8,000
TR T 7 () 10,000 8,000 4,000 10,000 10,000
qiESHeT W BE et [ Ugfd W SRRl S €1 S9! AT R T

() omwErt sty

(i) vIF TRAST H Y TdTH Tod Td AHSEHA FHHRH
(il) W& RIS I RS T

(iv) e IRESH =eR w1 W ey 2

BT et
L) 1 2 3 4 5 Rlu
10% 0.909 0.826 0.751 0683 0.621 3.790
15% 0.870 0.756 0.658  0.572 0.497 3.353
16% 0.862 0.743 0.641 0.552 0.476 3.27
18% 0.847 0.718 0.609  0.516 0.431 3.121

12. What is Cash Flow Statement ? Discuss its main uses and limitations.

Ahe JaTg TR #1 & ? 39 Y@ SUAR ud HEisii @ auie Hifeg |
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